Arithmetic – Please do all your working out in you book. 
1) 23 + 32 = 
2) 43 - 42 = 
3) 33 - 32 = 
4) 82 - 23 = 
5) 92 - 43 = 
6) 52 + 33 = 
7) 53 + 62 = 
8) 13 + 22 = 
9) 53 - 92 = 
10) 
11) 
12) 
13) 
14) 
15) 
16) x 40
17) x 120
18)  480
19) x 5500
20) of 4600
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3 . .
Dexter subtracted A from a fraction and his answer

8

was —
45

What fraction did he subtract g from?

Give your answer in its simplest form.
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A car is travelling from Halifax to Brighton.

o 2 -
In the morning, it completes 5 of the journey.

. 1 .
In the afternoon, it completes E of the journey.

What fraction of the journey has been travelled
altogether?
What fraction of the journey is left to travel?

o o

If the journey is 270 miles, how far did the car travel in
the morning?

How far did the car travel in the afternoon?

How far does the car have left to travel?
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